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SNHS : 2T - AlH R -
2 A X GiY R (MG T AN AR g U 2TAIAGISEC AN TR

SEANMTAILE HZUAN S =2 M6 &0 2/otH G 201 =E & Al
HENE WRELICH
1. AXUeE
IR N PUEIPUE S S eE-E exE= 5,786
ZARE || OlZIHS |AtGt4=C At 13709 =24 | 2011.12.07
MHege [NEA2 A |sHgz Ao £352) 88-1 M=t 2011.12.06

At g =2 Z & 2 A= Z & 2
=2012s% (pH) 6.8 - S22 830 MPN/100m4
SR AL RS (COD) - mg/L TRLEUHE D=2 27 MPN/100m¢
MBS A A QP2 (BOD) 0.5 mg/L CH& 274 (Coliform Group Unit) - MPN/100m¢
2722 (SS) 4 mg/L &4 (DO) 6.9 mg/L
9t € g (Cd) 22 mg/L 1.1.1-ER2I2220E (1.1.1-T.C.E) 0.001 mg/L
A (As) sdE mg/L EZIZZZ0 €3 (T.C.E) sdE mg/L
= 2 (Ho) sdE mg/L HECZZSZZ0EE (P.C.E) sdE mg/L
=4 (Pb) E2s mg/L SJ|¢l E2s mg/L
67t 3E (Cre+) EZE mg/L Z2I222IUIOIEISHIHYE (PCB) EZE mg/L
Al @H(CN) sdE mg/L AN SHEFA (CCly ) sdE mg/L
M H(SOI2HHEALA) 228 mg/L 1,2-CISE2Z20E mg/L
It gt & (Carbaryl) E2s mg/L CI22 20| & (Dichloromethane) E2s mg/L
H = (Phenol) sdE mg/L #l  H (Benzene) sdE mg/L
2 2 (Fr) sdE mg/L 22 Z X E (Chloroform) sdE mg/L
M dl & (Se) EZE mg/L CIHE A ZEe 0l E (DEHP) EZE mg/L
22L& A (NH; - N) 0.02 mg/L OtEI=2 (Sb) EZE mg/L
AN EA (NO; - N) 2.2 mg/L

ot = aJ 4 23
g & g g =2
]l )
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Aol AIEEHE 2 A dH =E0&E  ZF & i =HZAAHEHEY i & 4 g§Yt A a =R
SNBSS LT - RN
= & X 2 (Mot AIE A E) ) B . SEZAIMNGHE T AIS EHE
M S SEAMN HARA (5,787)
SEANMTAILE SHUAN X =2 M6 &0 2ot G 201 =EZ Al
HR™AE DR
1. dMUE
ZH |2 o= =28 SR 5,787
SA=H 1FHD Q2= (Aot ZAFYA-13709 ==X | 2011.12.07
M2 [ XEAI2 MW= |olg2 &atH S32| 88-1 M= At 2011.12.06
2. =EZAN 2
a4 A & = Jl &= 2 | &< a4 A & = Jl &= Z2 | &9
2/ BHAl (Total Colonies) 100 0|5t 0 CFu/m¢ | C| 2 Z 2 il EH(Dichloromethane) 0.02 0IGt| & | mg/L
EWUE 2 (Total Coliforms) =4 2dE [ /100m | &1 H (Benzene) 0.01 0IGt| &= | mg/L
=2 8 U &2 2 (Fecal Coliforms) =4 =dE [ /7100m | E 2 9 (Toluene) 0.70l5t | E&E | mg/L
CH& = (Escherichia Coli) - - /100m¢ | O HIFE (Ethylbenzene) 0.30l5t | E&E | mg/L
= (Pb) 0.010|5t| E&E | mg/L | 3 & &l (Xylene) 050/t | EHE | mg/L
2 2 (R 150/6t | 8& | mg/L | 1.1-C/I22=2 0 €@ (1.1-D.C.E) | 0.03 0l5t| EHE | mg/L
H 2 (As) 0.010I5t| &5 | mg/L | AIESIELA (CCly ) 0.002 0|5t &;&HE | mg/L
Ml el & (Se) 0.010/5t| €2& | mg/L | & & (Hardness) 300 0|5t 35.0 mg/L
A~ 2 (Hg) 0.001 0I5l EZZ | mg/L | BUALSAHE 10 0/t 1.86 | mg/L
A ©F(CN) 0.010IGt| E&EZ | mg/L | & A (Odor) 23 235 -
3 & (Cn 0.050I5t| &= | mg/L | & (Taste) 20| 20l -
ADLIOIEE A (NHs - N) 05015t | 0.02 | mg/L | & 2l (Cu) 1013t | 0.019 | mg/L
A E A (NO; - N) 10 0/t 2.1 mg/L | % & (Color) 5Z 0t | 225 [
It E (Cd) 0.005 0I5t &&= | mg/L | Ml Xl (ABS) 050/t | EHE | mg/L
EIEG) 1005l | 228 | mg/L | 2201255 (pH) 5.8 ~85| 6.7 -
H = (Phenols) 0.005 0|5t &&= | mg/L | OF & (Zn) 3 0lot =dE | mg/L
EE2|S 2 M E (THMs) 0105t | 22= | mg/L | 22012 250 013} 26 mg/L
22 Z X E (Chloroform) 0.08 0IGt| &= | mg/L | SLEZFZ (R.E) 500 0l ot 72 mg/L
CtOl 0t Xl = (Diazion) 0.020I5t| &8 | mg/L | & (Fe) 0.30l5t | E&E | mg/L
Tt 2tX|I 2 (Parathion) 0.06 0|Gt| E&EE | mg/L | & 2t (Mn) 0.050I5t| &8 | mg/L
12-[/820-3-222220 0.003 0I5t 2= | mg/L | & = (Turbidity) 05015t | 0.03 NTU
HILIEZ X2 (Fenitrothion) 0.04 0|Gt| & | mg/L | E&0|=2 200 0l 6t 14 mg/L
I} bt 2 (Carbaryl) 0.070IGt| EEE | mg/L | €20l (Al) 0.20/5t | EHE | mg/L
1.1.1-E2/2220IEH(1.1.1-TCE) | 0.1 0I5} | 0.001 | mg/L | =4 0~40| 0.80 | mg/L
HEeI 22208l (PCE) 0.01 0ot | E2E | mg/L | ECISZZ0INELIEE (TCAN) |0.004 0I5t 2&E& | mg/L
EC|22 20 €3 (TCE) 0.03 0ot | E&E | mg/L | E20tMEUHIAIS (HAA) 0.10I5t | 8% | mg/L
2221510120/ (CHR) 0.03 013 | 0.0023 | mg/L | E2202Z2 20+ (BDCM) 0.03 0/5t| 22= | mg/L
CIEZ20I0tMELIEE (DBAN) 0.1 013t [ 0.0093 | mg/L CIEZ222Z 20 E (DBCM) 0.1 0|5t EZ=E mg/L
122 20tHELI E2 (DCAN) 0.09 0I5t | 0.0012 | mg/L | 1,4-CioI= & 0.050I5t | £2& | mg/L
ot & S=g FEIEN AHE
2 H & g =
]l i
2
= .
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Aol AIEEHE 2 A dH =E0&E  F & i =HZAAHEHEY i & 4 gt A a =R
TMNHUS : ST RN
= & X o2 (Aot A g AT 2 & SEAAMGHT AN EHE
Mo 2 AEAN HEAH (5,791)
SEANMTAILE HZUAN S =2 M6 &0 2/otH G 201 =E & Al
SXNE DRELC
1. dMUE
IR N PUEIPUE S - RS exE= 5,791
FAISHE | A& D OlZIHS |Aot4 ST AFY A-13709 ESEDN; 2011.12.07
M2 I XEAI2 MW= |oled2 SXH 552 403 M= At 2011.12.06
2. =EZAN 2
a4 A & = 2 o 2 a4 A & = 2 o 2
=40l25% (pH) 6.9 - S22 1733 MPN/100m4
St M A A QS (COD) 3.4 mg/L cREHE =2 0 MPN/100m4
MBS A A QP2 (BOD) - mg/L CH& 274 (Coliform Group Unit) - MPN/100m¢
2722 (SS) 3 mg/L EZ4A (DO) 6.8 mg/L
9t € g (Cd) 22 mg/L 1.1.1-ER2I2220E (1.1.1-T.C.E) 0.001 mg/L
A (As) sdE mg/L EZIZZZ0 €3 (T.C.E) sdE mg/L
= 2 (Ho) sdE mg/L HECZZSZZ0EE (P.C.E) sdE mg/L
=4 (Pb) E2s mg/L SJ|¢l E2s mg/L
6JF IZ (Cr6+) 28 mg/L Z2|2Z22IUI0IEISHIHY (PCB) 28 mg/L
Al @H(CN) sdE mg/L AN SHEFA (CCly ) sdE mg/L
A H (SOI2HAHE L) 28 mg/L 12-C2==20& mg/L
It gt & (Carbaryl) E2s mg/L CI22 20| & (Dichloromethane) E2s mg/L
H = (Phenol) sdE mg/L #l  H (Benzene) sdE mg/L
2 2 (Fr) sdE mg/L 22 Z X E (Chloroform) sdE mg/L
Ml el & (Se) 28 mg/L Clolg sl & T 0| E (DEHP) 28 mg/L
ADLIOHSE A (NHs - N) 0.03 mg/L OLE| 2 (Sb) S mg/L
AN EA (NO; - N) 1.5 mg/L
ot & A 4 28
= X Sk St ==}
T -/ = o —/
]l )
2
= .
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Aol AIEEHE 2 A dH =E0&E  ZF & i =HZAAHEHEY i & 4 g§Yt A a =R
TMNYHES . ST RN
= & X 2 (Mot AIE A E) ) B . SEZAIMNGHE T AIS EHE
K S SEAM HARA (5,792)
SEANMTAILE SHUAN X =2 M6 &0 2ot G 201 =EZ Al
HENE WRELIC
1. dMUE
ZH |2 o= =28 d83 5,792
SA=H 1FHD Q2AHS (At E ALY A -13709 ==X | 2011.12.07
IE=a=t1 DAIFSNE=4 MW= lolg2 SXH 52| 403 M= At 2011.12.06
2. =EZAN 2
a4 A & = Jl &= 2 | &< a4 A & = Jl &= Z2 | &9
2/ BHAl (Total Colonies) 100 0|5t 0 CFu/m¢ | C| 2 Z 2 il EH(Dichloromethane) 0.02 0IGt| & | mg/L
EWUE 2 (Total Coliforms) =4 2dE [ /100m | &1 H (Benzene) 0.01 0IGt| &= | mg/L
=2 8 U &2 2 (Fecal Coliforms) =4 =dE [ /7100m | E 2 9 (Toluene) 0.70l5t | E&E | mg/L
CH & (Escherichia Coli) - - /100m¢ | Of €8Il A (Ethylbenzene) 0.30lct | EZZ& | mg/L
= (Pb) 0.010|5t| E&E | mg/L | 3 & &l (Xylene) 050/t | EHE | mg/L
2 2 (R 150/6t | 8& | mg/L | 1.1-C/I22=2 0 €@ (1.1-D.C.E) | 0.03 0l5t| EHE | mg/L
H 2 (As) 0.010I5t| &5 | mg/L | AIESIELA (CCly ) 0.002 0|5t &;&HE | mg/L
Ml el & (Se) 0.010/5t| €2& | mg/L | & & (Hardness) 300 0|5t 27.0 mg/L
%= 2 (Hg) 0.001 0|5l EAE | mg/L | AL EAHIS 10 05t 2.24 mg/L
A ©F(CN) 0.010IGt| E&EZ | mg/L | & A (Odor) 23 235 -
3 & (Cn 0.050I5t| &= | mg/L | & (Taste) 20| 20l -
ADLIOIEE A (NHs - N) 05015t | 0.03 | mg/L | & 2l (Cu) 1015 | 0.021 | mg/L
A E A (NO; - N) 10 0/t 1.5 mg/L | % & (Color) 5Z 0t | 225 [
It E (Cd) 0.005 0I5t &&= | mg/L | Ml Xl (ABS) 050/t | EHE | mg/L
EIEG) 1005l | 228 | mg/L | 2201255 (pH) 5.8 ~85| 6.7 -
H = (Phenols) 0.005 0|5t &&= | mg/L | OF & (Zn) 3 0lot =dE | mg/L
EE2|S 2 M E (THMs) 0105t | 22= | mg/L | 22012 250 013} 20 mg/L
22 Z X E (Chloroform) 0.08 0IGt| &= | mg/L | SLEZFZ (R.E) 500 0l ot 54 mg/L
CtOl 0t Xl = (Diazion) 0.020I5t| &8 | mg/L | & (Fe) 0.30l5t | E&E | mg/L
Tt 2tX|I 2 (Parathion) 0.06 0|Gt| E&EE | mg/L | & 2t (Mn) 0.05 0|5t | 0.009 mg/L
12-CIEZ2R-3-22T2D 20 0.003 0I5t 23 & mg/L & & (Turbidity) 0.5 0|5t 0.07 NTU
HILIEZ X2 (Fenitrothion) 0.04 0|Gt| & | mg/L | E&0|=2 200 0l 6t 12 mg/L
I} bt 2 (Carbaryl) 0.070IGt| EEE | mg/L | €20l (Al) 0.20/5t | EHE | mg/L
1.1.1-E2I2 220 EH(1.1.1-TCE) | 0.1 05t | 0.001 | mg/L | EgA 0~40 ]| 0.70 | mg/L
HEeI 22208l (PCE) 0.01 0ot | E2E | mg/L | ECISZZ0INELIEE (TCAN) |0.004 0I5t 2&E& | mg/L
EC|22 20 €3 (TCE) 0.03 0ot | E&E | mg/L | E20tMEUHIAIS (HAA) 0.10I5t | 8% | mg/L
2221510120/ (CHR) 0.03015t| 22= | mg/L | 2220222 0E (BDCM) 0.03 0/5t| 22= | mg/L
CIEZ20I0tMELIEE (DBAN) 0.1 013t [ 0.0096 | mg/L CIEZ222Z 20 E (DBCM) 0.1 0|5t EZ=E mg/L
122 20tHELI E2 (DCAN) 0.09 03| 0.0010 | mg/L | 1,4-CIOI= 4 0.05015t | 22& | mg/L
ot & S=g FEIEN AHE
2 H & g =
]l i
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ABIETAIYCHE B A Y ATDE OEH AW SHAANLESY WA A YT M a2
SNHS : 2T - AlH R -
2 A X GiY R (MG T AN AR g U 2TAIAGISEC AN TR

SEANMTAILE HZUAN S =2 M6 &0 2/otH G 201 =E & Al
ARMNE DSELICH
1. dMUE
IR N PUEIPUE S - RS exE= 5,796
FAISHE | A& D OlZIHS |Aot4 ST AFY A-13709 ESEDN; 2011.12.07
IE=a=t1 DNIFSNE=4 MW= |ollg ot 282 654-1 WESS=DN; 2011.12.06
2. =EZAN 2
a4 A & = 2 o 2 A= 2 o 2
=40l25% (pH) 7.0 - SHERZ 1553 MPN/100m¢
SIEH M ALA Q@ T2 (COD) 7.6 mg/L AR BRES 0 MPN/100m¢
MBS A A QP2 (BOD) - mg/L CH& 274 (Coliform Group Unit) - MPN/100m¢
2722 (SS) 11 mg/L &4 (DO) 7.1 mg/L
9t € g (Cd) 22 mg/L 1.1.1-ER2I2220E (1.1.1-T.C.E) 0.001 mg/L
A (As) sdE mg/L EZIZZZ0 €3 (T.C.E) sdE mg/L
= 2 (Ho) sdE mg/L HECZZSZZ0EE (P.C.E) sdE mg/L
=4 (Pb) E2s mg/L SJ|¢l E2s mg/L
6JF IZ (Cr6+) 28 mg/L Z2|2Z22IUI0IEISHIHY (PCB) 28 mg/L
Al @H(CN) sdE mg/L AN SHEFA (CCly ) sdE mg/L
A H (SOI2HAHE L) 28 mg/L 1,2-CISE2Z20E mg/L
It Ht & (Carbaryl) sdE mg/L CI22 20| & (Dichloromethane) sdE mg/L
H = (Phenol) sdE mg/L #l  H (Benzene) sdE mg/L
2 2 (Fr) sdE mg/L 22 Z X E (Chloroform) sdE mg/L
Ml el & (Se) 28 mg/L CIHE A ZEe 0l E (DEHP) 28 mg/L
ADLIOFEE A (NH; - N) 0.03 mg/L OLE| 2 (Sb) S mg/L
AN EA (NO; - N) 0.9 mg/L
ot & A 4 28
2 H g g =
]l )
2
= .
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$ 534 - 810 / Y =Rz SEHH IE=Z 11499 X / &3 (061) 270 - 8353 / ME (061) 270 - 8295
Aol AIEEHE 2 A dH =E0&E  ZF & i =HZAAHEHEY i & 4 g§Yt A a =R
TMNYHES . ST RN
= & X 2 (Mot AIE A E) ) B . SEZAIMNGHE T AIS EHE
K S SEAM HBA (5,797)
SEANMTAILE SHUAN X =2 M6 &0 2ot G 201 =EZ Al
HXNE DRELC
1 AHUE
ZH |2 o= =28 SR 5,797
SA=H 1FHD Q2AHS (At E ALY A -13709 ==X | 2011.12.07
IE=a=t1 DAIFSNE=4 M ol 2ot 252| A130-3 M= At 2011.12.06
2. =EZAN 2
a4 A & = Jl &= 2 | &< a4 A & = Jl &= Z2 | &9
2/ BHAl (Total Colonies) 100 0|5t 0 CFu/m¢ | C| 2 Z 2 il EH(Dichloromethane) 0.02 0IGt| & | mg/L
EWUE 2 (Total Coliforms) =4 2dE [ /100m | &1 H (Benzene) 0.01 0IGt| &= | mg/L
=2 8 U &2 2 (Fecal Coliforms) =4 =dE [ /7100m | E 2 9 (Toluene) 0.70l5t | E&E | mg/L
CH & (Escherichia Coli) - - /100m¢ | Of €8Il A (Ethylbenzene) 0.30lct | EZZ& | mg/L
= (Pb) 0.010|5t| E&E | mg/L | 3 & &l (Xylene) 050/t | EHE | mg/L
2 2 (R 150/6t | 8& | mg/L | 1.1-C/I22=2 0 €@ (1.1-D.C.E) | 0.03 0l5t| EHE | mg/L
H 2 (As) 0.010I5t| &5 | mg/L | AIESIELA (CCly ) 0.002 0|5t &;&HE | mg/L
Ml el & (Se) 0.010/5t| €2& | mg/L | & & (Hardness) 300 0|5t 81.0 mg/L
%= 2 (Hg) 0.001 0|5l EAE | mg/L | AL EAHIS 10 05t 2.94 mg/L
A ©F(CN) 0.010IGt| E&EZ | mg/L | & A (Odor) 23 235 -
3 & (Cn 0.050I5t| &= | mg/L | & (Taste) 20| 20l -
ADLIOIEE A (NHs - N) 05015t | 0.03 | mg/L | & 2l (Cu) 1015t | 0.026 | mg/L
A E A (NO; - N) 10 0/t 1.5 mg/L | % & (Color) 5Z 0t | 225 [
It E (Cd) 0.005 0I5t &&= | mg/L | Ml Xl (ABS) 050/t | EHE | mg/L
EIEG) 1005l | 228 | mg/L | 2201255 (pH) 58 ~85| 6.9 -
H = (Phenols) 0.005 0|5t &&= | mg/L | OF & (Zn) 3 0lot =dE | mg/L
EE2|S 2 M E (THMs) 0105t | 22= | mg/L | 22012 250 013} 39 mg/L
22 Z X E (Chloroform) 0.08 0IGt| &= | mg/L | SLEZFZ (R.E) 500 0l ot 192 mg/L
CtOl 0t Xl = (Diazion) 0.020I5t| &8 | mg/L | & (Fe) 0.30l5t | E&E | mg/L
Tt 2tX|I 2 (Parathion) 0.06 0|Gt| E&EE | mg/L | & 2t (Mn) 0.050I5t| &8 | mg/L
12-CIEZ2R-3-22T2D 20 0.003 0I5t 23 & mg/L & & (Turbidity) 0.5 0|5t 0.02 NTU
HILIEZ X2 (Fenitrothion) 0.04 0|Gt| & | mg/L | E&0|=2 200 0l 6t 20 mg/L
I} bt 2 (Carbaryl) 0.070IGt| EEE | mg/L | €20l (Al) 0.20/5t | EHE | mg/L
1.1.1-E2/2220IEH(1.1.1-TCE) | 0.1 0I5} | 0.001 | mg/L | =4 0~40| 0.80 | mg/L
HEeI 22208l (PCE) 0.01 0ot | E2E | mg/L | ECISZZ0INELIEE (TCAN) |0.004 0I5t 2&E& | mg/L
EC|22 20 €3 (TCE) 0.03 0ot | E&E | mg/L | E20tMEUHIAIS (HAA) 0.10I5t | 8% | mg/L
S2ZE00I= 401 (CHR) 0.03 0I5t | 23E mg/L S22 222 0E (BDCM) 0.03 0I5t| 23E mg/L
C1E 22010t ELIE 2 (DBAN) 0.1 0I5t | 0.0201 | mg/L | CIE2 22220/t (DBCM) 0105t | 22& | mg/L
122 20tHELI E2 (DCAN) 0.09 03| 0.0018 | mg/L | 1,4-CrOI= 4 0.05015t | 22& | mg/L
ot & S=g FEIEN AHE
2 H & g 5
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Aol AIEEHE 2 A dH =ZudE X 3 =HZAAHEHEY i & 4 g§Yt A a =R
TMNYHES . ST RN
= & X 2 (Mot AIE A E) ) B . SEZAIMNGHE T AIS EHE
M = +E2AM 84X A (5,801)
SEANMTAILE SHUAN X =2 M6 &0 2ot G 201 =EZ Al
HXNE DRELC
1. dMUE
ZH |2 o= =28 d83 5,801
SA=H 1FHD Q2AHS (At E ALY A -13709 ==X | 2011.12.07
M2 | XIEAR M4 e 2UH S22l M4 M= A 2011.12.06
2. =EZAN 2
a4 A & = Jl &= 2 | &< a4 A & = Jl &= Z2 | &9
2/ BHAl (Total Colonies) 100 0|5t 0 CFu/m¢ | C| 2 Z 2 il EH(Dichloromethane) 0.02 0IGt| & | mg/L
EWUE 2 (Total Coliforms) =4 2dE [ /100m | &1 H (Benzene) 0.01 0IGt| &= | mg/L
=2 8 U &2 2 (Fecal Coliforms) =4 =dE [ /7100m | E 2 9 (Toluene) 0.70l5t | E&E | mg/L
CH & (Escherichia Coli) - - /100m¢ | Of €8Il A (Ethylbenzene) 0.30lct | EZZ& | mg/L
= (Pb) 0.010|5t| E&E | mg/L | 3 & &l (Xylene) 050/t | EHE | mg/L
2 2 (R 150/6t | 8& | mg/L | 1.1-C/I22=2 0 €@ (1.1-D.C.E) | 0.03 0l5t| EHE | mg/L
H 2 (As) 0.010I5t| &5 | mg/L | AIESIELA (CCly ) 0.002 0|5t &;&HE | mg/L
Ml el & (Se) 0.010/5t| €2& | mg/L | & & (Hardness) 300 0|5t 25.0 mg/L
= 2 (Hg) 0.001 0I5t 23 mg/L UM EAH S 10 Ol ot 3.29 mg/L
A ©F(CN) 0.010IGt| E&EZ | mg/L | & A (Odor) 23 235 -
3 & (Cn 0.050I5t| &= | mg/L | & (Taste) 20| 20l -
ADLIOIEE A (NHs - N) 05015t | 0.04 | mg/L | & 2l (Cu) 1013t | 0.020 | mg/L
A E A (NO; - N) 10 0/t 1.0 mg/L | % & (Color) 5Z 0t | 225 [
It E (Cd) 0.005 0I5t &&= | mg/L | Ml Xl (ABS) 050/t | EHE | mg/L
EIEG) 1005l | 228 | mg/L | 2201255 (pH) 58 ~85| 7.0 -
H = (Phenols) 0.005 0|5t &&= | mg/L | OF & (Zn) 3 0lot =dE | mg/L
EE2|S 2 M E (THMs) 0105t | 22= | mg/L | 22012 250 013} 13 mg/L
22 Z X E (Chloroform) 0.08 0IGt| &= | mg/L | SLEZFZ (R.E) 500 0l ot 54 mg/L
CtOl 0t Xl = (Diazion) 0.020I5t| &8 | mg/L | & (Fe) 0.30l5t | E&E | mg/L
Tt 2tX|I 2 (Parathion) 0.06 0|Gt| E&EE | mg/L | & 2t (Mn) 0.050I5t| &8 | mg/L
12-CIEZ2R-3-22T2D 20 0.003 0I5t 23 & mg/L & & (Turbidity) 0.5 0|5t 0.08 NTU
HILIEZ X2 (Fenitrothion) 0.04 0|Gt| & | mg/L | E&0|=2 200 0l 6t 11 mg/L
I} bt 2 (Carbaryl) 0.070IGt| EEE | mg/L | €20l (Al) 0.20/5t | EHE | mg/L
1.1.1-E2I2 220 EH(1.1.1-TCE) | 0.1 05t | 0.001 | mg/L | EgA 0~40 | 0.40 [ mg/L
HEeI 22208l (PCE) 0.01 0ot | E2E | mg/L | ECISZZ0INELIEE (TCAN) |0.004 0I5t 2&E& | mg/L
EC|22 20 €3 (TCE) 0.03 0ot | E&E | mg/L | E20tMEUHIAIS (HAA) 0.10I5t | 8% | mg/L
2221510120/ (CHR) 0.03015t| 22= | mg/L | 2220222 0E (BDCM) 0.03 0/5t| 22= | mg/L
C1E 22010t ELIE 2 (DBAN) 0.1 0I5t | 0.0017 | mg/L | CIE2 22220/ E+ (DBCM) 0105t | 22& | mg/L
122 20tHELI E2 (DCAN) 0.09 03| 0.0008 | mg/L | 1,4-CrOI= 4k 0.05015t | 22& | mg/L
ot & S=g FEIEN AHE
2 H & g =
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